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3"5 pA) Algebra2

Section 2.10 Graphs of cubic polynomials

Text & Tests 0 @

(Example 1 )

By examining the graph, find an expression for this cubic polynomial.
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Exercise 2.10

1. Find a cubic expression for each of the following graphs, giving your answers in the
form f(x) = ax® 4+ bx>+ cx + d.

Rosts: X=-1 , X=1 ,x=3
factors : (x+0)(x-1)(x-3)
> £69 = ko (X+1XX=\)(x-3)
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Subn (0,3)
-F(Q) = k(b+l)(§-l)(°-3) =3
k=3 =2 k=I

s FO= (xh1 X x=1)(%-3) nohic,
= (X*=\)(x-3) )

flxy = XP=3xT-x+%

1. Find a cubic expression for each of the following graphs, giving your answers in the
form f(x) = ax® + bx* + cx + d.

(i) " Rosts: x= -4
foctors : (x+4) (x-1) (x-2)

> f=le (X+4X x=\ ) X =)
sk in (0,8)
fo)= ke (o +4)(o-1 )(b—?.):y
> $k=8%8 3 k=l

> fx)= (X+4Ux-1)(x-2)

= (x*—X+4x -4 )(X-2)

= (x-2)(X "+ 3x-4)

= X4+ 3= 4x -2x % 6x+3
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